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12.

Instructions for the Candidates

Write your Seat No. and OMR Sheet No. in the space provided

on the top of this page.

This paper consists of 75 objective type questions. Each question

will carry ¢twomarks. A//questions of Paper-I1I will be compulsory,

covering entire syllabus (including all electives, without options).

At the commencement of examination, the question booklet

will be given to the student. In the first 5 minutes, you are

requested to open the booklet and compulsorily examine it as
follows :

(1) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal or open booklet.

(i) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to missing pages/
questions or questions repeated or not in serial
order or any other discrepancy should not be
accepted and correct booklet should be obtained
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given. The same
may please be noted.

(11) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each question has four alternative responses marked (A), (B),

(C) and (D). You have to darken the circle as indicated below on

the correct response against each item.

Example : where (C) is the correct response.

ONON NO

Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark at any place
other than in the circle in the OMR Sheet, it will not be evaluated.
Read instructions given inside carefully.

Rough Work is to be done at the end of this booklet.

If you write your Name, Seat Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, you will render yourself liable to disqualification.
You have to return original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with
you outside the Examination Hall. You are, however, allowed
to carry the Test Booklet and duplicate copy of OMR Sheet on
conclusion of examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table, etc., is prohibited.
There is no negative marking for incorrect answers.
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POLITICAL SCIENCE
Paper III

TSHIMEH
quusTeRt 111

Time Allowed : 2% Hours] [Maximum Marks : 150
Note : This paper contains Seventy Five (75) multiple choice questions, each
question carrying Two (2) marks. Attempt A// questions.

oA ¢ A1 EAAIehd THY e (75) Sgudt T o oRd. yoE wRAen €9 (2)
U SRd. @E U Wi

1. Which attribute of ‘Power’ is | 1. T=a1 Af¥Teed ShIv! SISl STTRIYUT

incorrectly stated ? Jeodcll MR ?

(A) Capacity to influence (A) J9E TESUIE &Hdl

(B) Embodiment of reason (B) foaersfiemar

(C) Based on force (C) o SR

(D) Not backed by law (D) HICATA TG STHE

2. Who among the following has | 2. ‘g == SWR fafu=ieso
defined political development as aifor FaoTsrar AN ofor TS

“increased differentiation and .
specialization of political structure

I X} (al o (al
and increased secularisation of farerr’’ areit TStenta foreRram=i =are

political culture”. QAT 1o foaRad shell 318 2

(A) Samuel P. Huntington (A) e @ 3

(B) David Easton

(B) sfwe S
(C) Gabriel A. Almond and G.B.
Powell (C) Ufsua steme emfor St oiad
(D) Alfred Diamont (D) 3Tchs THHE

3 [P.T.O.



Examine the following statements

about India’s Nuclear Policy and

mark the incorrect one :

(A) India considers Nuclear Non-

Proliferation Treaty (NPT) as

discriminatory treaty

(B) India is in favour of both

vertical and horizontal nuclear

weapon proliferation

(C) India is for total nuclear

disarmament

(D) India is against declaring South

Asia as a Nuclear Weapon Free

Zone
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WRATAT ATfUeeh  SROTfes==an @reiial

faam e & i gwe faum

(A) YRATAT 3T0GE YHIEET  hIIST

FAFHRE ATl

(B) YA U=l ST STfUT STedn

TN Al A 3118

(C) Huf stfveren 1 :ereiehtomen wdren

RUCEINCH

(D) o MY STUaEad U3l U

oo

wifd wXvaTa aRarar fauy

Sl




Select from the following statements
the main theme of the 1971 UN
Declaration on Indian Ocean as a

Zone of Peace. Use the codes :

() To eliminate the regional and

extra regional power presence

(i1) To eliminate the great power
presence in the context of great

power rivalry

(iz1) To make the region a Zone of

Peace

(iv) To declare the region as a

Nuclear Weapon Free Zone.
Codes :
(A) (1), (1), (112), (1v)
(B) (11, (i11) only
(C) (i), (1v) only

(D) (1), (1) and (7i1) only

JAN - 15318/III—B

1971 =1 T&<} Her@mR & wiiddr & A

wifsra @O WA AUserEAl

STERATHITA A HecaT=l fasa et
fouMmYT Sehaye=n MER e

(1) TR o1 YevTaTel Sxr STk
T RO

(7)) oTSd G eyt Sewid Tere

IS o Al T S
(i) Tafed & Inadar &5 Il

(1v) FEfUq &5 AT &5 TUA
ClIECECTY]

Hehdiah :

A) (), (1), (110, (iv)
(B) & (i1), (ifD)
(C) %K (d1D), (iv)

(D) ®eK (4), (1) AT (d7d)
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Choose the correct statement about
‘security dilemma’ from the

following. Use codes :

() An important paradox inherent

in the state system.

(i7) The existence of states is to
provide security of its citizens

by maintaining armed forces.

(7i1) The existence of armed forces
threatens the very security, they

are expected to maintain.

(i7v) There is no escape from the
international security dilemma
because there is no possibility

forming a world government.
Codes :

(A) (1), (i1, (ii1) are correct and (1v)

is incorrect
(B) (1), (i1, (ir) and (1v) are correct

(C) (1), (in) are correct and (i11), (1v)
are incorrect
(D) (1), (10, (1v) are correct and (i11)

is incorrect
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‘gret=n g9’ A1 geulida @
faameE Tra faumret fee a0 -

(1) TTATEAAA ST HAgcardn
forenyr.
(i) TSRl TEAT=A ST ARTRERTS TL&T0T

FHLMEST T AT

(7i7) ST GIFeIaan Tenil ST Temerre

ame faama e i@ ashd

TAThgA ikl fafor e .

(iv) STAWTEIE HI&TT UaTIgd gl
Hezel T AR RO S T
e et Sl SR TR

Hehdich :

(A) (3, (d), (i) SR e, (7v) 6
e

B) (1), (7D, (i) ST (7v) IS AR

(C) (1), (i7) S 3R 901 (i7d), (iv) I
3Ted

(D) (2), (7)), (7v) S 3R T (471) I
3T




Compare List I (Theory) and List II

(Scholars) and select the correct

codes :

(a)
(b)
(©
(d

(1)
2)
3)
(4)

List I (Theory)
Liberalism
Realism
Critical
Dependency

List II (Scholars)
Immanuel Kant
Kautilya
Immanuel Wallenstein

Jurgen Habermass

Codes :

(@ b (o (d

@ 1 @ @ @

B) @ 3 @ @)

© @D @2 @ 3

O O @ @ @

6.
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It 1 wefie foagemar=t acy 11 Aefa
foamEdeRieR 99 Siedl Gehdih =l

RN Jeodl

RGN |

(@) SQHACR

(b) TIIdIE
(¢ Tafewem
(d) TUacst

It 11

(1) 3HI e

(2) hifeea

(3) THHHAA T

(4) ST geRHEY

- -
-
.

(a)
A D
(B) @)
©)
D) 1)

()
(4)
3)
(2)
(2)

(0
(3)
(2)
(4)
(3)

(2)
(1)
3)
(4)
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Which of the following years was

celebrated by India as the

‘E-governance year ?

(A) 2001

(B) 2002

(C) 2003

(D) 2004

Who wrote the book entitled

“Development Administration—

Concept and Problems” ?

(A) Appleby

(B) L.D. White

(C) Willobi

(D) Swerdlow
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EATAUeh! hITd o8 WA S-99mEA

I8 WUE R ol ?

(A) 2001

(B) 2002

(C) 2003

(D) 2004

‘TRATHS HATHARIN FUC H-g

Heetd' 1 Sftefehra g il ferfee 2

(A) Tqerert

(B) TA. €. =E

(C) forciisit

(D) @




10.

Sarkaria Commission submitted its

report on ..........cceeeeeeeee. date.

(A) 27th October, 1987

(B) 26th April, 1966

(C) 24th November, 1972

(D) 20th May, 1981

Which Article of the Indian

Constitution describes India as a

‘Union of States’.

(A) Article 11

(B) Article 4

(C) Article 13

(D) Article 1

10.
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JIHTIIT TR ATTAT AT

(A) 27 3TERSR, 1987

(B) 26 T, 1966

(C) 24 =R, 1972

(D) 20 H, 1981

YA TSTEETd hivd hodd Y &

U=l HqY'oSR 99U S ?

(A) hetH 11

(B) <heH 4

(C) <hetH 13

(D) et 1
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11.

12.

13.

Who is the Prime Minister of

Myanmar ?

(A) Owang San Su Ki
(B) Thiyen Sen

(C) Khin Ki

(D) Ne Win

Which is the most important

element of current global politics ?
(A) Technical

(B) Economical

(C) Political

(D) Military

According to Huntington which of
the following countries can be
considered as coming under the third

wave of democratization ?
(A) Japan and Germany
(B) India and Israel

(C) Britain, France and USA

(D) Southern and Eastern Europe

11.

12.

13.

JAN - 15318/II1I—B

AR Gaye™ v oTRd 2
(A) o1 9= g
(B) e &

(C) T =t

D) ¥ dF

TIRTAT  STTfdeh  TSThTIOTTE Tgia

AgaTdl ¥eeh hIUl 3R ?
(A) iR
(B) afeies
(C) TSThIA
(D) =it

ToTed AT HAd Wleiueh! hivld <91

AIHIMETHIOM=AT AG=aT dTed A

ehard ?

(A) S Ao ST

(B) YR 37Ul s&IErd
(C) fored, wrw enfor JuHT
(D) =fegor efor g Ay

10



14. Which of the following pairs are

correctly matched ?
(a) Samuel Huntington
(b) Mikhail Gorbachev
(o0 Henry Kissinger
(1) Clash of civilization
(2) Perestroika and Glasnost
(3) Detente
Codes :

(A) (1) and (2)
(B) (1) and (3)
(C) (2) and (3)

(D) (1), (2) and (3)

JAN - 15318/III—B

14. WTATATRT HITTIT Siedl ddidad

fa N

(1) F Ak fFR A==
(2) USAFHRT A0 TAEA
(3) <

Hehdiah :

(A) (1) 37T (2)

(B) (1) 3mfur (3)
(C) (2) =7t (3)
D) (1), (2) Ao (3)

15. Who among the following is | 15. @eficiies! v Aaaredd! fagam
the pioneer of the theory of neo- IS 3Med ?
realism ?
(A) &Y 9
(A) Kenneth Waltz
(B) &4 Hiiel
(B) Hans Morgenthau
C) o g7
(C) Barry Buzan (©)
(D) Raul Prebisch (D) ea foreiten
11 [P.T.O.



16.

17.

18.

The speed and intensification of
economic, political, social and

cultural relations across

international borders is known as

(A) Political economy

(B) Economic development
(C) Globalization

(D) World economy

The farmers organisation, Bharatiya

Kissan Union was established by

(A) Sharad Joshi

(B) Mahendra Singh Tikait
(C) Nandunjappa

(D) Raju Shetti

When was fundamental duties were

incorporated in the Indian
Constitution ?

(A) 1948

(B) 1950

(C) 1976

(D) 1971

16.

17.

18.

JAN - 15318/II1I—B

TR, STehid, WTHIMSIh, & QTEhideh
T I ST AR Uetihe

..................

AT TTEEAT HAYA haoAT= FHEL

hegl HITI 3Tl 7

(A) 1948
(B) 1950
(C) 1976

D) 1971

12
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19. On whose recommendations was the | 19. 1 URue=l MfHd homen freRe
Constituent Assembly formed ? el et ?
(A) Cabinet Mission Plan (A) Hae e I
(B) Mountbatten Plan (B) WIS TS
(C) Govt. of India Act, 1935 (C) 1935d1 YRd HIHN <hrdal
(D) Cripps Mission Plan (D) form A IS
20. Which one of the following pairs is | 20. @ecds! HIUCl SIS AT Jbelt
not correctly matched ? T 2
(A) Huntington : Differentiation .
(A) Bferea —  fafy=ieeo
(B) Gabriel Structural
(B) Tifsaa emie — AN
Almond Differentiation
fafy=fenta
(C) Huntington : Participation
(D) Gabriel . Centralization (€)@ o :
Almond (D) Tfoae He — iR
13 [P.T.O.



21. Which one of the following pairs is

correctly matched ?

(A) Civic culture:

(B) Civic culture:

(C) Civic culture:

(D) Civic culture:

Parochial and

political culture

Subject and

super partici-

pant culture

Participation

and political

culture

Parochial, Sub-

ject and partici-

pant culture

JAN - 15318/II1I—B

e ?

AN A ~ a N A ~ fa
21. TWIAlcYehl IOl SISl oo NSl

(A) AR T

- arratfea aArfor

faY . faY
Rslenl+ Hendl

(B) T W&

(C) AR T&hat

: HEHT

. Fepiad ST 34

AN Gl

arrfor

[aV hd (aV
RISien (9 tendl

o

(D) T T

: STTIThd, Hep

ST WY W&

Bl
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22. Which one of the following pairs is | 29, Eeficiish] IV SISl IFIAYHR NCEKI]
not correctly matched ? T 2
(A) Vilfredo — The Mind and L
(A) fachs — T TRES %
Pareto Society
™R HErEET
(B) Gaetano — The Ruling
(B) TR HGHI— T Wl FAE
Mosca Class
C) . — e gfere
(C) C. Wright — The Power Elite ©) e <
Mills K
(D) Karl Mann- — Elite and Non- (D) et — 3o I M-
heim Elite TAfeq 3fee
23. Wthh one Of the fOllOWlng pairS iS 23. {9||Q’1ﬂ|("|q\°hﬁ| °|')\|U|\'|'\| \YI\I Sﬂ| m G\[}a?«ﬁ'
correctly matched ? AR ?
(A) Steven = — Power : Radical A) =t — TR ¢ T
Lukes View = =1
(B) Michel = — Political System B) fire _ For -
Foucault .
(C) Gramsci — A Theory of .
(C) writ - 3 Al Ah
Justice
S
(D) Hannah — Political
Arendt Liberalism (D) ¥ e — deiiehet feradierm
15 [P.T.O



24. Which of the following statements

are correct ?

(a) Between 1950 and 1967, there
was congress dominant at the

centre level.

(b) After the fourth general election
of 1967, in six states coalition

government was formed.

(0 Between 1950 and 1967, there
was not congress dominant at

the state level.

Select the correct option from the

following codes :

(A) (a) and (o

(B) (b) and (¢

(C) (a) and (b)

(D) (a), (b) and (o)

JAN - 15318/II1I—B

24. Tl fedet ot faum awe”

Aea ?

(a2) 1950 4 1967 HEY hg Uldsialdl

FHIES UYA 2.

(b) 1967 =N AL WEAfAH TSI MR

T TSHES SIS T{ehR ST

IS S S
(0 1950 @ 1967=a1 TIHM
TSRl T I -Tegdl.

arell feeean SehdieHgd drE qa

IREEINE

(A) (a) 37 (o)
(B) (b) 3T (o)
(C) (a) =0T (b)

D) (a), (b) 3 ()

16
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25. Which of the following statements 25. el feetet ot faem awraw

are correct ?

(a) The political awareness is

present among the Dalits.

(b) There are region based political

parties in India

(00 There are political parties that
are not formed on socio-cultural

basis.

Select the correct option from the

following codes :

(A) (a) and (o

(B) (b) and (¢

(C) (a), (b) and (o)

(D) (a) and (b)

ed ?

(a) TfAAm=d TS SR T8 2

(b) YTRATHEN Fe¥T B I STEeiel TSeh ™

T8 3.

(¢ THISh-ATERfas 9™ T9ad

TSThig 18T 3TIRd.

el feoiedn FehdieHgd arg 9ae

e .

Hehdich :

(A) (a) M0 (o)

(B) (b) 370 (o)
(C) (a), (b) 3 (o)

D) (a) 30T (b)

17

[P.T.O.



26.

27.

In which state of India the first

communist government was

formed ?

(A) Kerala

(B) Orissa

(C) West Bengal
(D) Tamil Nadu

Which of the following statements

are correct ?

(a) Gender is different from sex
(b) Gender is not social construction
Gender is division of labour

()

Select the correct option from the

following codes :
Codes :

(A) (a), (b) and (¢
(B) (a) and ()
(C) (b) and (¢

(D) (&) and (¢

26.

27.

JAN - 15318/II1I—B

RATAT hI0TcAT TEh{SATHES  JoH

FHTE TR WOT A Bd ?
(A) *T@

(B) sift&n

(C) ufvem s

(D) dfHesTTS
Tt fede wiodr faum aueR
ed ?

() Tomyma @ Si-7es demue, el
3R,

(b Tamae & gmfses SXf=a gl

(¢ foammue wos wMe fauasE 8.

Trell feeedr Fohdiemyd arig 94
IREEINE

Hehdieh :

(A) (a), (b) 3T (o)
(B) (a) 30 (b)
(C) (b) = (o)

(D) (a) 3 (o)

18



28. Match List I with List IT and select

the correct answer from the codes

given below :

(a)
(b)
(0
(d)

(1)

(2)

3)
(4)

List I
Morris-Jones
Srinivas M.N.
Rajni Kothari
Weiner Myron (ed.)

List II

The Dominant Caste and Other

Essays

Government and Politics in

India
State Politics in India

Politics in India

Codes :

A) (2
B) 3
C) @)

D) D)

(a b (o

1) @ 3

2 O @

Q) @ @

2 G @

JAN - 15318/III—B

28. WA HehdlhMT o hEed Il [ 9
It 11 9t ara Siean S[ean -

(a)

(D)

(o

(d)

(1)

(2)

3)

(4)

RIC
HRE-Sd
Siferg ..
ESEINCACIE]
SR ARRMA (FT)

et 11
T Sifffe &Re i< 3TeY TES
Teghe 3t difafesw s sfean
we dffafesd 37 sfea
wifafesd 37 sfean

K3
-
.

(A (2)

B) 3)

(C) @)

(D) (1)

(@ b O @

1 @ O

2 1 @

3 @ @

2 G @

19
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29.

30.

Which one of the following pairs is
correctly matched ? (After 1990)

(A) Tow party — Gujarat
system

(B) One party — Maharashtra
system

(C) One party — Kerala
dominance

(D) One party — Rajasthan
system

Which of the following is/are forms
or system with which the unitary
system is compatible ?

1. Presidential form of
government.
2. Parliamentary form  of

government
3. System of judicial review

Choose the correct answer from the
codes given below :

Codes :

(A) 1 and 2
(B) 1 and 3
(C) 1, 2 and 3
(D) only 3

JAN - 15318/II1I—B

o} = fa

29. WeiteTdehl I SISl SR ool

A’ ? (1990 M)

(A) fguer wgdt — TS

(B) THUH TSl — HENIY

(C) TYE™Tedt  — HD
THUET TGl

(D) THIE — TSR
gt

30. WIieTdeh! U TR fohall Tt TR

QeI ek 3TRd ?

1. STt wrETuget

2. HHSH UETULH

3. AR YAfdehd g

TTelt foeiean Heaharel AYF drg 94
IREEIE

Hehdich :
(A) 1 aTfor 2
(B) 1 afur 3

(C) 1, 2 3amfor 8
(D) 9 3

20



31. The cabinet form of government

means :

(A)

(B)

(®)

(D)

A system of govrnment which
is marked by the existence of a
group which collectively decides
on the politics of the
government and which is also
collectively responsible to the

parliament

A form of government in which
the cabinet is supreme and is
not accountable to any other

organ of the state

A form of government in which
all the members of the cabinet
are popularly elected on the
audit

basis of universal

franchise

A form of government in which
it is the President, and not the
Prime Minister, who presides
over the cabinet meetings for
the reason that he is directly
elected by the people

JAN - 15318/III—B

31. ®faAe/AMTETBIH®  INHAUS LA

1%'01@[ :

(A)

(B)

(®)

(D)

M Tk TMEAIGHT hi TS T

N o N
e AT 3TEd S ST

¥ROTeTe Hfeshitcan o ot

ST T SRR STl

3Teft Wk TrEugEd! hi TS99 wfere

TS 3 I T YA IS

YRIAT SeeER T9d

RN TH IEAYREE! h1 S

Hfoed Hd T HEfIs We

HATYRRIGR Sdehed T

-
agn «dld

TS0 Tk TMETIGET shi 9 oo
Fog T AATL SRS FHET

o~

REEY

o

e S8

ZRIRREY

SALALTYE ST
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32. A rigid constitution is one which :

33.

(A) cannot be amended

(B) can be amended only by a new

constituent assembly

(C) can be amended only by two-
thirds majority of the members

present and voting

(D) can be amended by any

procedure other than ordinary
law making process prescribed

by the constitution

Who said that “Authority is

federal” ?

(A) Barker

(B) Duguit

(C) Krabbe

(D) Laski

32.

33.

JAN - 15318/II1I—B

Iige TT&eAl U :

(A) STt 9Igerar I et

(B) St sheles ST UNORHATR AT daiel

S

(C) Sufeerd Wgd HAGTT HILUITE]

W= S Yl SgHA

FEear Ad
(D) St ToreeAA He feaiean wmH=
(Sl o Glla) o NO
T Hd =T YfRaAfem™ s

FIVERT IGHAA Fgerdl ad

AMYRR B T Al 3T WeATeTueh!

~

FIU foaRady "ed e ?
(A) ST
(B) =2
(C)

(D) A=RT
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34.

35.

Who among the following said that
all the governments ultimately are

oligarchic in nature ?
(A) F.M. Marx

(B) Vilfredo Pareto
(C) Max Weber

(D) Herbert A. Simon

Bureaucracy in the modern state is

the form of :

(A) Traditional authority
(B) Rational legal authority
(C) Charismatic authority

(D) Political authority

34.

35.

JAN - 15318/III—B

e A g SIfqHd:  AeuSHET
A’ T8 WIelaideh! v o
A ?

(A) TH.TH. W

(B) faemer =@

(C) Hog I}

(D) B T HWEHH

MY T AhIME BTk

HIU YhRE! TFd ?

(A) URUfR 3R
(B) foa=! denfaer a1feer
(C) Teemaemifea foer

(D) TSTehia ST

36. Which of the following imposes | 36. @Ieiiciyshl VAT FEHMHes TRAIE
limitations on the supremacy of the TS TaasS@EeR Haer a2
Parliament in India ? .

(A) HEEH qgHd!
(A) Parliamentary system )
(B) HORTSY HEEe( S0 =ArATeri
(B) Federal system and judicial
. qfefeiieh
review
(C) Socialistic pattern (C) FHSEmn =
(D) Fundamental rights (D) qAYT TFh
23 [P.T.O.



37.

Which of the following pairs are

correctly matched ?
1. Dependency — Samir Amin
theory

2. Liberal theory — Lucian Pye

of development

3. Theory of — Karl Marx
alienation

4. Theory of — John Rawls
negative

Select the correct answer using the

codes given below :

Codes :

(A) 1, 2, 3 and 4

(B) 1 and 2

(C) 3 and 4

(D) 1, 2 and 3

JAN - 15318/II1I—B

oo

37. WCACUsh! ShIoT STEl Arafe Sjeeae

AqE ?

1. e — R 3THA
ISERCIE]

2. forehmEmrn — T 9
EEIGREINEECIE|

3. TRICHHTETE — e TR
IRECIR

4. THNHRT — S e
ISERCIE]

@il HehdiohTal IR h&ed AT ST

et .
Hehdich :

(A) 1, 2, 3 sTfn 4
(B) 1 amftr 2

(C) 3 3 4

D) 1, 2 a7for 3
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38. Match the following : 38. €l eI :
List I RIEUN|
(a) Sovereign is the main source of () TEIH T FHEE &I STHEH
law 3e.
(b) Laws are passed by legislature (b) HEHSS HMES FHA Hd.
(0 General will is sovereign (0 wHfesh Tal HETH .
(d) Will, and not force, is the basis (d) & Teg T HHAT B [ SR
of state ST
List II ardt 11
(1) Hobbes (1) =fsl
(2) Locke (2) @i
(3) Rousseau (3) w
(4) T.H. Green (4) Ta. o=
Choose the correct answer from the Tl Qq?qiqﬂq\q ara R fEE
codes given below : Hehdich :
(a b © @ (@ b (© (@

A @ @2 3 @ A @ @2 3 @

B @1 @2 @) @ B O @ & @

2) (1 4
©) @2 1) 3 @ © @ O & @

D) 4 1 2 3
D) @) 1) (©2) 3 M @ @O @ O

25 [P.T.O.



39.

40.

Classical liberalism grew out of the

struggle between :

(A) labour and bourgeoisie

(B) capitalists and feudalists

(C) middle class and the down-

trodden

(D) aristocracy and commoners

Gandhiji believed in the principle of

non-violence. Satyagraha is :

(A) a weapon to oppose violence by

non-violence

(B) a method of civil disobedience

(C) a method of people’s

participation

(D) a weapon of violence

39.

40.

JAN - 15318/II1I—B

EeHeTIeh] RIOCT TTETAT TS SIS

ICRATAE IqTE 3Tl ?
(A) =it safor o
(B) WiSacigR 2101 TSHER

(C) Ty o7 A0 HTST=AT TN
TR

(D) HESHRMEl 2T qrT=sH

HEIcAT Tie=r AfE9=a doamer favemy

(A) Te8m=n 1fgdn fderr SHLvame |red

(B) e BERTE e

(C) TAhEEUNIET Teerdl

(D) &8 g
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41.

According to the Fascists, the truest

form of democracy is government by

the :

(A) Elite

(B) War-mongers

(C) Democrate

(D) Anarchists

41.

JAN - 15318/III—B

Tiem A1 TIaRERoIaR alehemeen @

(A) SN

(B) IEHEN=

(C) hITEl gHdH™

(D) ST

42. Violation of the ‘Rule of Law’ arises | 42. ‘shEcara TS’ A= 97T @ gTﬂ'@qﬁ
mostly from : TeTeeh! I sTeiqes eidl 2
(A) Limited franchise (A) TIffed HafeerR
(B) Delegated legislation (B) wed faum
(C) Lack of checks and balances (C) T enfor wodrer=n S
(D) Unrestrained freedom D) s @R
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43.

44.

Which of the following is correctly

matched ?
Theories of Statements
Nature Regarding Nature
of State of State
(A) Idealist State will wither away
(B) Mechanistic State is an association of
associations
(C) Legal State has a fictitious
personality
(D) Organic State is the objectification
of spirit

Who of the following wrote ‘The

Subjection of Women’ ?
(A) Jeremy Bentham
(B) Karl Marx

(C) James Mill

(D) John Stuart Mill

JAN - 15318/II1I—B

43. WA T SIS HIMET AN

44.

A ?
ST AT
EUTeT wETEe et
fagia faam

(A) s TS TfER ARw

(B) =ifsept T 7 HEAE g

(C) Fenfem ATl aTEe SAfRdHe

T
(D) E&™ M T ¥ a&gey

e

ETCTeTueht Shivfe foamedH ‘S HeskRT
site g’ & 7y fafeen ?

(A) SH sFom

(B) hrel AR

(C) v fia

(D) S wgard fia

28



45. Mahatma Gandhi launched the

Satyagraha movement in 1919.
Which of the following was the

correct reason ?

(a) It was a protest against the
British government for its
failure to introduce promised

reforms at the end of the war.

(D)

It was a protest against the
massacre at Jallianwala Bagh,

Amritsar.

()

It was a protest against the

Rowlatt Act.

(d) It was a protest against

communal awards.
Codes :
(A) (a) and (¢
(B) Only (o)
(C) (¢) and (d)

(D) Only (b)

45.

JAN - 15318/III—B

1919 HEJ HETHT TET YIRS Hosacd

& hefl. TIelcush! @me G SR

HIUd B ?

9T I

(a) JugH = do34 Tol
gurunEe e o searaHr

Il HIUATT ST STIIRITA]

ferrema

(b) A I Sferararen o
ERIEISICIIRE NI

(0 e sAfufmren folem.

(@) S feresrea fatym.

Hendich :

(A) (a) =0 (o)

(B) %49 (o)

(C) (o o (d)

(D) &aes (b)
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46.

47.

48.

Who represented the Congress in the
Second Round Table Conference at

London (1931) ?

(A) Mahatma Gandhi
(B) Jawahar Lal Nehru
(C) Srinivas Shastri
(D) B.R. Ambedkar

The Lahore Session of the Congress
which adopted a resolution of
complete independence for India was

presided over by :

(A) Subhash Chandra Bose
(B) Mahatma Gandhi

(C) Motilal Nehru

(D) Jawaharlal Nehru

The basic principle of liberalism
is :

(A) Individual freedom

(B) Social justice

(C) Equality

(D) Nationalism

46.

47.

48.

JAN - 15318/II1I—B

e Jefic gH et qReed (1931)
WreAteardsh! &Iv wigEa gfafafec
Fd 2

(A) e et

(B) AR 8w
(C) oifara St
(D) . 3. AeSH

HIATAT ARR ATTATEG ST Fqof

LA SUe UId ShaudTd STl =l
LT WeATAdeh! hIv el ?

(A) GuToEg S
(B) WereH Rt

(C) A T8®

(D) ATl T8%

SRRAqERE J&d @ & e ?

(A) HfFTTT W
(B) 9IS =
(C) HHd

(D) Tegarg
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49. Marxism is considered as a Utopia | 49 HIRIaTell SEell AHe S, TR
TEE 91 foaRedren 1 8 WS aER
but sabine finds this utopia ............ .
ETATAUeh] hIve T 3R ?
A G dah N ]
(A) Generous an umane one A)
(B) Anti-capitalist and prodemocracy (B) Hredavmer faielt o drensmea
. . . &
(C) Restrictive and class oriented
(C) wfaaemgess v allifﬂ'g@r
(D) Anti-imperialist and pro-
(D) FrrTETE faiet oo sTferepremea
authoritarian
IR
50. Which of the following pairs is | 50. @il feiean Seadid HIvRT TG et
correctly matched ? escll T8 ?
(A) Rousseau — Civil society (A) &4 — AR "
(B) Locke =~ — Original position (B) <k — o feerdt
(C) Plato — Veil of ignorance (C) == — SR[IENEl UEql
(D) Machiavelli — Hegemony (D) HfpeTeget — o=
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51. Select the correct answer by using

51. Weilel Fehdgaral aTa HEed I 3w

the codes given below :

faer
Assertion (A) : Hobbes said
faeam (A) : Bfest=a wd, HIUH 70

“Man is solitary

poor,  nasty, THIeh!, T, 33,
brutish and

SO S STl
short”.

Reason (R) : There can be no R) : ) 4,
morality, justice, STAITTETadT qHThdl
industry and

el
civilisation.

Codes : :

(A) (A) is correct but (R) is incorrect (A) (A) SR R, WG (R) THh R

(B) Both (A) and (R) are correct and (B) TII(A) 31fo1 (R) sRIeIX 31ed 3o

(R) is reason of (A) (R) © (A) ¥ &NT 3

(C) (A)1isincorrect but (R) is correct .
(C) (A) I% R, W (R) s 3
(D) Both (A) and (R) are correct but
(D) =T (A) 3fr (R) &R 3T1ed, g

(R) is not the correct reason of

(A) (R) B (A) & RO R
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52.

53.

54.

Who said is the
constraint in the realization of
liberty” ?

“Inequality

(A) Rousseau

(B) Thomas Hobbes
(C) J.S. Mill

(D) T.H. Green

Which among the following is an

Incorrect statement ?

(A) Negative liberty is the absence

of obstacles

(B)

Classical liberal state makes a

claim for private property

(C) Modern liberal state advocates

Laissez-faire economy

(D) Maximum government is main

feature of welfare state

Which one of the following pairs is
correctly matched ?

(A) Classical political theory —

Value oriented

(B) Empirical political theory —

Value oriented

(C) Empirical political theory —

Anti-positivism
(D) Classical political theory —

Anti-historicism

52.

53.

JAN - 15318/III—B

“faoaT &1 T WHHEE STeYe 3T
Y DIV W M ?

(A) &I

(B) oTHE ®lssl

(C) S.u@. fHa

(D) dw=. °H

TreleriR! SErg faum efeen

(A) ASYcsITEl A9 WUNI ThRIcHE

A 3R

(B) ®ITSIT guxfi=r <rar 21fusa,

SERHAART TF hid

(C) =Tgfieh I[EHAAIRT [T HqaFd

SHefeTeI= TN HLd

o o
SHRATA St RTIAA % EINEIN

T & dfvrsel 3T

(D)

54, ETEERE FORT S SRR el

e ?

(A) YIa TSRt f9gTa — e

(B) sTwaars! Ussa fagia —
eoTch

(C) SAqvFaret Ussia fagia —
yeagefere fadied

(D) TS Teteh i Togia — sfageare
Tordieft
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55. Which one of the following pairs is

not correctly matched ?

(A)

(B)

(®)

(D)

John Rawls theory of justice
— Each person is to have an
equal right to the most
extensive liberty compatible

with similar liberty to others

Feminist Account of Justice —
The greatest benefit of the least

advantaged

John Rawls theory of justice —
Attached to offices and positions
open to all under conditions of

fair equality and opportunity

Amartya Sen Approach —

Justice as a capability based.

JAN - 15318/II1I—B

55. WIccTdeh! iU SISl sRIsk Teoct

g ?

(A) S U= = faga — 99
Al 99 Bk 19, aud

A=A T 0 WA e

(B) S dmEm= = Heheddl — Tdieeh

golos STl (T ST&q W14

THeaan

(C) SH Uou=n = f9ga — 94 1e

HaraTe! Tl STareid a8 I W

HLUATEST FaiT ‘GHHE G U

9Tt

(D) o J=n gftesm — wrferdar

eia =
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56. According to the UNDP’s Human

Development Report of 1994, which

one of the following is incorrectly

stated as an issue falls within the

scope of human security.

(A) Economic security, Food

security

(B) Health security, Environmental

security

(C) Personal security, Community

security

(D) Political security, Energy

security

JAN - 15318/III—B

56. WIFd USLI=AT faswTd® wHTdHATSAT

Al forehramaiie 1994 =41 STRATATTER

HIAaT grEr=Ar AreAia garfase

-~

% YEHUR ARI T Fehial qa1a

HIOTAT ?

(A) 3Tfefer gem, o7 e

(B) STRFI FI&, A0 gRaT

(C) =AfeRTTa GRam, THer= et

(D) TSThiA &, s Fam
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57.

58.

What is the ultimate goal of state
according to the offensive realism

propounded by Mearsheimer ?

(A) Power

(B) Hegemony

(C) Authority

(D) Peace

Who was/is the UN Secretary
General took the initiative to conflict
prevention and move the UN from
a culture of reactions to a culture

of prevention ?

(A) Ban Ki Moon

(B) Butros Butros Ghali

(C) Kofi Annan

(D) Kurt Waldheim

57.

58.

JAN - 15318/II1I—B

THSRETER =91 foaRadr Aeced Ay

rAgaRGER T eifan 3gfase

HIOT 2
(A) &
(B) 94
(C) eAfEehr
(D) e

TTeAd®! FIF ASST=AT HI0Te]

TEE e Fore e qerehR =

FYFIeL i RIcas  F&hd A
JfaaecHs G&hdihe o ?

(A) 9 i 71

(B) S92 g9 e
(C) HIhl =M

(D) 2 deeerEd
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59. You have been asked to design a

59. TRWEIA Y= UauamEsl Teh

comprehensive program to combat
corruption in bureaucracy. Which of
the following measures would you

adopt ?

(a) Reform of Indian Penal Code

(b) Modification of the Prevention

of Corruption Act.

(00 Improvement in inter-

ministerial coordination

FETHAITH HIHhHH ARG 3Tl

AT STl 3R, TSl Weftetieh]
I YRS IRl SR ?
(2) YRdE e faumE gamon

(b)) YRER YfdeEs wEEI s&d

(0 SIS WM T GERom

(d) TTEET=a %™ 311 1 feden

(d) Reduction in protection given GO U
by Art. 311 of the Constitution o
Hehdieh :
Codes :
(A) (a) 30 (d)

(A) (a) and (d)

(B) (b) and (o

(C) (o) and (d)

(D) (a), (b) and (d)

(B) () 3 (o)

(C) (o 3T (d)

(D) (a), (b) 3701 (d)
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60. Given below are two statements, one

labelled as Assertion (A) and the
other labelled as Reason (R) :

The
Minister’s Office

Assertion (A) : Prime
maintains liaison
with the
President and

Governors.

The
Minister’s Office
acts as the think
tank of the Prime

Reason (R) :

Prime

Minister.

In the context of the above which

one of the following is correct ?
Codes :

(A) (A) is true but (R) is false.

(B) Both (A) and (R) are true but
(R) is the

explanation of (A)

not correct

(C) Both (A) and (R) are true and
(R) is the correct explanation of

(A)

(D) Both (A) and (R) are false

JAN - 15318/II1I—B

60. Mol gF faum fool smea. & faum

(A) W TN &HRI (R) :

faem (A) :  TAYYH HEATEE TS

9 [T 1AM
TUH WU FHTH

.

HRUT (R) :  UdYEMATE ®1ITAd

‘jdH‘blHiull et foar

FUM FHETTd U

HE .

i 3 faumren gevid erelt feeien
R IR I L

T
(A) (A) SUsR 38 W (R) = MR

(B) (A) 31fo1 (R) T&l SRIeR 3R 901
(R) ® (A) 9 a9 Tq&ehi0l Al

(C) (A) 27T (R) Tl sIeR 3T ST
(R) & (A) 9 Irg TR 318

(D) (A) for (R) Sl = A&
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61. What are the' _sources of 61. M= TR 9 S 2
Development Administration ? A . . .
(A) Globalization, consumerism, (A) :a:_:_:::_lc_l:hqu{ul’ e, AT
international trade

(B) Fundamental Rights, (B) T TR, O FdAoA, -
fundamental duties, secularism e

(C) Economic development, Political (C) enféier foshrd, TSehIE STEhdT,
awarness, democracy SIENIE

(D) Directive principles, socio- (D) WArESieh qd, ArHTSTeh— 3T YR =,
economic justice, welfarism AThh AR GIeeehiA

62. Match List I with List IT and select 62. T fecrea T %i\tnt“ A s
the correct answer from the codes N -
given below : I 37for et 11 =1 A Siiedn Seod ¢

List I RICUD |
(a) Political Affairs Committee (a) TSThIA HABR A
(b) Estimates Committee (b) 3TES gigdl
(00 National Development Council (o TI"EjT{ ICEI BRI
(d) Inter-state Council (d) 3TR-TT HEB
List II aret 11
(1) Administrative reforms (1) TeTEHE G
(2) Decisions regarding security 2) Tfaraa Heuta Fofa
(3) Cooperative federalism (3) REREREET TR
(4) Representation to Chief A ern
Ministers @ a
Codes : e :
@ b © (d (@ b (© (@
A 4 3) 2 Q) A @ 3 @2 (@
B B 1) @ @ B B3 1 @ @
< 2 3 1 @ < 2 B8 @O @
D 2 @O @D 3 D 2 @O @ @
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63. Which two of the following 63, BIHATE EOE FE EeE 3

statements are linked with

AqcaTeh Sieerel 3ed 2

administrative leadership ?

fay

(a) F9M ISR IR o

(a) Influencing people to strive

. o ST SHLUATHIS ARl JTfad Shal.
willingly for mutual objectives.

(b) Mobilizing people to widen (b) IHINT YR A@AvIATHS! Aleh ]

social base. Sefad L.
(0 Encouraging people for (0 TRYNTEE! ehil Uieamed <ol
participation

(d) GoeATHS HIATHIATS AR

(d) Rewarding people for
& | 301

organizational efficiency.
TUrEy
Codes :

(A) (a) (0 and (d) (A) (a) (o = (d)

(B) (b) and (d) (B) (b) 370 (d)
(C) (a), (b) and (d (C) (a), (b) = (d)
(D) (b), (o) and (d) D) (b), (o) 3 (d)
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64. What is corporate governance ? 64. AATHTTTATHE TG IMHTHTTR
C t HL0 U
(a) It is a government by public (Corporate governance)
EDR
corporations.
(a) <o FHmE=N AR ITEA IO
(b) It is a governance protecting
b) et feadeH™ T&U HIOM
the interests of the stakeholders. ) ol
ITETEER.
(o0 It is a governance protecting )
(o wraTforshaon 37for Afash e
ethical and moral values. > 3 .
(d) International governance. (&) ST AT
Codes : HehATE
(A4) (&) and (d) (A) (a) 370 (d)
(B) (b) and (¢ (B) (b) 391 (o)
(C) (o) and (d) (C) (o) = (d)
(D) (a) and (b) (D) (a) (0 (b)

65. Who of the following advocated the | 65. ToehTEM=T FRITEAT=N EECIRRNCRIC I
dependency theory of development SIS WelleTieh] vt Aigem 2
administration ? i .

(A) TS b
(A) Gunder Frank
(B) Wheh WA
(B) Frank Marini
(C) Chester Barnard (C) =X =E
(D) MacGregor (D) "R
41 [P.T.O.



66.

67.

Which of the following critera is
considered while creating a Nagar

Panchayat ?

(A) the degree of urbanization

(B) proportion of employment in

non-agricultural activities

(C) the degree of people’s
participation
(D) infrastructure facilities

Choose the incorrect statement of the

following :

(A) The scope of Judicial Review in
Canada was expanded with
Canadian Charter of rights and
freedom in 1982

In India Articles 131-136 of the

Constitution have vested in the

(B)

Supreme Court the powers of

Judicial Review

(C) In US, dJudicial Review was
asserted for the first time in
1803 in Marbury Vs. Medison

case

(D) In Switzerland Supreme Court
is empowered to make Judicial

Review of Federal Law

JAN - 15318/II1I—B

66. TRUEEd fHI0T AT @ToireTdshl

~

St feRuren fo=mmR el SEr ?

(A) RSO A

(B) Togidt sgerdmrdial ISR W70
(C) <= TEUTTE  JHT

(D) eiara gfaen

67. @Icicden! Tehral a8 i@

(A) HTSHHTA =TT AR

T 1982 HIAT HASgT =

3R geq o< fired A1 wead

AT uaTd 37T

ORA TSI ™ 131-136

ER Weled AmTerETEl AT

[ AN

qAfccliehTal ek Sglal Siiell 3118

2R 1803 = HIeR! faeg AErH
g7 wRTATHER

(B)

©
RIEISEIE!

qAfdAt®waTET gFh  gfecdial

ST SATAT

(D) feacadieqsd Hefta w1acurE
=ETAA qAfd AR HmIoATE

YRR Teed = 3T
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68.

69.

How the President of America is

elected ?
(A) Directly by people

(B) Citizens elect the members of
electoral college, these electors
then cast direct votes for the

President

(C) The US Congress elects the

President of America

(D) The

President of America

Senators elect the

Choose the incorrect statement :

(A) Executive power in Switzerland

is held by a committee

consisting of 7 members

Switzerland’s constitution of

1848 provided for a Federal

(B)

Council

(C) Each of the ministers in Federal
Council has equal power and is

elected by Parliament

(D) The Swiss Constitution expects
that the executive decisions

should be taken by the President

68.

69.

JAN - 15318/111—B
=T Uil fae e g ?
(A) EhIheA YALTI
(B) ANIRehisher Usgieas=n far<eh

T TeEEt fae B9, T ©

T TS Jodel HagH

< {dld

(C) sTHfeh=n Tegeag= fae site
FHIITHST B

(D) sTafeh=n Tgeaa=n fae faie
HEHhE Bl

Tefeden! 3Eg faud sfesen :

(A) fomciens Rk @ & 9@

o0

TeE=Al GiHdiehe 3T9d

(B) facercts=ar 1848 =1 UsT=@AA
T (ArEfeh) AEa TS Sl
3T

(C) T Heaiel Ydieh HHMhe T
T STHA SO ¥ OE HHIhSA
IEESNESIGIG]

(D) facEcie Toa&eT 3™ WU &l
FHRIHRT o Tieaaehed B
ST
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70.

71.

Choose the incorrect sentence :

(A) Indian President can declare
state emergency in a state

through Article 356

(B) Article 356 gives wider powers
to the central government to

assert its authority over a state

(C) With Article 356 the powers of
the legislature of the state shall
be exercised by or under the

authority of the Parliament

(D) In the Golaknath case the
Supreme Court discussed at
length the provisions regarding

Article 356

In which state the upper house of

the legislature, gets equal

representation from federating

units ?
(A) India
(B) USA
(C) UK

(D) None of the above

70.

71.

JAN - 15318/II1I—B

ETefieieh! HIv foum g o ?

(A) YRAEA UL o™ 356 T4
HEHTSITT  SATVE0N S1eX e

RMehdld

(B) e® 356 ER hg TRl TSATE
et ST wEenfud hivarETat

ek JfHR U B

(C) e 356 TR TATH HIACHES D

SR THeHST fhal HHQHTHA

TRAT STl

(D) TThTY T Haisd =AM
3565 SheAHIEsT T ==t shell
TR

HIT TSI FHTICHS BT s

YN Ycdsh Tsaren |HH glafafee
fesd 2

(A) ¥d

(B) =TaRemt

(C) Fmaee fohen

(D) SelUeh! HIvael el
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72.

Find the wrongly mentioned
member of the Chicago-Michigan

tradition of system theory in

72.

JAN - 15318/III—B

SRS TR SHeree fagiaren

TeTeRT-TAe WA R0 Te&

Tehial 3T o TN
international relations :
(A) TieS Rl
(A) Harold Laski
(B) SfArdret Yard
(B) Anatoli Raport
(C) s=ie fam
(C) David Singer
(D) Morton Kaplan D)
73. Which of the following initiated 73. @I HIMER T FEA0T & e
the idea of arms control for the first o Tiget e 2
time ?
(A) &1 Tmaar 9ieg (1899)
(A) Hague Peace Conference (1899)
(B) Geneva Protocol of 1925 (B) fSegt @elr (1925)
(C) 14 Points of Woodrow Wilson - . - .
(C) gl Tdeud A=l 14 hetH (1919)
(1919)
(D) Four Powers Declaration of 1945 (D) =N (1945)
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74. Given below are two statements, one

labelled as Assertion (A) and the
other labelled as Reason (R) :

The 17th NAM

Summit in

Assertion (A) :

Venezuela was
attended by

India’s Vice-
President Hamid
Ansari.

Reason (R) : In the post-cold
war world NAM
is expected to
focus on core
issues of global

concern.

In the context of the above two
statements, which of the following
is correct ?

Codes :

(A) (A) is true, (R) is false
(B)

()

(A) is false, (R) is true

Both (A) (R)
individually true, and (R) is the

and are

correct explanation of (A)

Both (A) (R)
individually true, but (R) is not

(D) and are

the correct explanation of (A)

JAN - 15318/II1I—B

74. Tl F f9uM o oRd. T fauM

(A) 3TfoT TR R (R) :

faam (A) : w=AgTen Aefta 175
sTfereRree. ¥R FHe
ORAE SIS §HIG
SR I 9T i

&IUT (R) : OIS &A@
SRS TSGR JaAYd
SFTfaes GHETaR A8l
Hhigd Had, T e
3Ts.

1 S faumr=n Sewid Ereiieiush! shivrd]

T SRET 3R ?

Hehdih

(A) (A) ssR 378 907 (R) I 38
(B) (A) I %, 90 (R) =R 3R

(C) ST (A) 3Tfor (R) T@aaqul akier
3Med M (R) & (A) 9 I
TR 3R

(D) S (A) 301 (R) Ted=rqul siei
Med, W (R) 8 (A) = 4™
TSRO ATE
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75. India’s claim for permanent seat in

the UN Security Council is justified

for the following reasons :

() India has successfully

conducted nuclear explosions.

(i7) India has never attacked any

country.

(1z1) Indian economy is growing fast.

(iv) India has achieved greater
diplomatic clout among third

world countries.

Choose the correct answer from the

following codes :

(A) All are correct

(B) (1), (1) and (7i1) are correct

(C) (17D and (7v) are correct

(D) (1), (i1i) and (iv) are correct

JAN - 15318/III—B

75. G USIreAT GRET uieedia T

HC\{‘qCOiIOI{ﬁI(’I HIIATET <TdT OIS

IR Fudg T8

(1)  HRAM I S0 hed] 3R

(ji) YRAM HE HI0edT SIMAL AR

el T

(ff) R ATTTEI= FUeaH 916 8id
3R,

(7v) Toe=an STTdter SemHed YRAM ST

qSHfdeh oo 9T el 378,
Trefid qaEHgd 9 Sw e
(A) Wd T SR Sed
(B) (2), (zz) 0T (z7z) S 3T
(C) () MU (fv) I e

D) (1), () 3T (7v) SIS 3T
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